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I. Analyses of 1 mwn: 0¥y 129p
a.  Identity: of 2w nna na (dispute N’ "1/70v *1/n™) — alternate version of »01 1 has him as our Rin
b.  Analysis of exemptions: in cases of Yon and qon 127p

1. Question: why does qoin exempt more than its own n%an (also nmn)?
2. Answer: >0y "1 agrees that it only exempts its own
¢ Question: regarding highlighting of nava '8 — why not highlight 1022 '8 (D2y 9010 ,550)?
1. Answer: 990 of N is not "RN»RT” as per accounting of 11 "1 (18/21 days of H9n)
2. Story: of 21 hearing Y50 on n"); when they skipped some, he realized nm1a nimar ann

a.  7n~need not begin reading n"a Yon; if he does, he completes it
II.  Analysis of 1 mwn — 5 tragedies on nnna 1 and 5 on 2"n
a. nonar
Tablets: broken per chronology of vv. 1-3
o1 1297 suspended: tradition
Breaching of walls: pnwRY a2 was 11nna ‘v (v4); 2w n'a was nnna v (but see 'n5>v1Y here)
D11wDIIN. tradition
. Idol erected in 5377. same day as suspension of Tnn (per v5) (2 of them — v6)
b.  ax1ayvm
1. Decree of wandering: 40 years in desert — as per chronology of vv. 7-16
a.  V15: 'nmade nnn longer to “set up” the return for 2”ny
b.  VI16: weeping on that night > weeping for generations
2. Destrucdtion: of 15t and 2" wTpn
a.  I*:resolution of (7 or 10" of 28) — vv. 17-18 >began burning on 9
b.  2":bad day-> bad day (narrative details about the date in 70 CE)
4. 917’2 tradition
5. Razing of city: Aggadic addition, with story of 1"
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